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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 5th Semester Examination, 2022  

DSE1/2-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 
 

 The question paper contains DSE-1A and DSE-1B.
The candidates are required to answer any one from two Courses.  

Candidates should mention it clearly on the Answer Book. 

 DSE-1A 

 usikyh lkfgfR;d i=dkfjrk 
 lewg-d
1. rydk dquS pkjoVk iz”udks mÙkj ys[uqgksl~ & 3×4 = 12

(d) lkfgfR;d i=dkfjrk HkUukys ds cqf>UN \ 
([k) HkkjrckV izdkf”kr ifgyks usikyh if=dk dqu gks j ;ldk lEiknd dks gqu~ \ 
(x) *pfUnzdk* if=dk dfgys vkS dgk¡ckV izdkf”kr Hk,dks fFk;ks \ 
(?k) *xks[kkZi=* dldks lEiknuek dfgys j dgk¡ckV izdkf”kr Hk,dks gks \ 
(³) *lqUnjh* if=dk dqu lkyek izdkf”kr Hk,dks fFk;ks \ ;lys lkfgR;dks dqu fo/kkykbZ 

izkFkfedrk fn,dks fFk;ks \ 
 (p) *”kkjnk* if=dkek y{ehizlkn nsodksVkdks ifgyks fucU/k dfgys izdkf”kr Hk,dks fFk;ks \ 

mDr fuoU/kdks uke ys[uqgksl~A 
  

 lewg-[k
2. rydk dquS pkjoVk iz”udks leh{kkRed fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) *lqUnjh* if=dkdks lkfgfR;d ;ksxnkuA 
([k) usikyh fucU/kdks fodklek *pfUnzdk* if=dk ;ksxnkuA 
(x) lEiknddks :iek iknjh x³~xkizlkn iz/kkudks ;ksxnkuA 
(?k) ek/;fed dkyhu usikyh lkfgR;dks fodklek *ek/koh* if=dkdks ;ksxnkuA 
(³) *[kksth* if=dkdks lkfgfR;d egÙoA 
(p) *uscqyk*&dks vFkZ j ;ldk lkfgfR;d ;ksxnkuA 

   

 lewg-x

3. dquS nqbZoVk iz”udks mÙkj ys[uqgksl~ & 12×2 = 24

(d) usikyh lkfgR;dks fodklek *fn;kyks* if=dkdks ;ksxnkuckjs ppkZ xuZqgksl~A 
([k) usikyh lkfgR;dks fodklek i=-if=dkdks ;ksxnkuckjs ,mVk ys[k ys[uqgksl~A 
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(x) vk/kqfud usikyh lkfgR;dks fodklek *”kkjnk* if=dkys iqÚ;k,dks ;ksxnkuekfFk izdk”k 
ikuZqgksl~A 

(?k) lkfgfR;d i=dkfjrkdks vFkZ] ifjHkk’kk] izÑfr j fo”ks’krkckjs ppkZ xuZqgksl~A 

  
 DSE-1B 

 Hkkjrh; usikyh lkfgR; j lkfgR;dkj 
 lewg-d

1. rydk dquS pkjoVk iz”udks mÙkj ys[uqgksl~ & 3×4 = 12

(d) ifgyks Hkkjrh; usikyh vk/kqfud miU;kl dqu gks \ ;ldk miU;kldkjdk uke 
ys[uqgksl~A 

([k) Hkkjrh; usikyh pkjtuk dfodks uke ys[uqgksl~A 
(x) Hkkjrh; usikyh lkfgR;ek *tkrh; dfo* dlykbZ j fdu Hkfu,dks gks \ 
(?k) jkeÑ’.k “kekZdks rhuoVk fucU/k l³~xzgdks uke ys[uqgksl~A 

(³) :iukjk;.k flagdks ifgyks dFkk dqu gks \ ;ks dFkk dfgys izdkf”kr Hk,dks fFk;ks \ 
 (p) *viru*&dks vFkZ ds gks \ ;ldks vk”k; Li’V ikuZqgksl~A 

  

 lewg-[k

2. rydk dquS pkjoVk fo’k;ek leh{kkRed fVIi.kh ys[uqgksl~ & 6×4 = 24

(d) vk/kqfud Hkkjrh; usikyh dFkkA 

([k) *jkrHkfj gqjh pY;ks* dFkkdks ewyHkkoA 

(x) *gkL;* fucU/kdks mÌs”;A 

(?k) *forsdk dqjk* dFkkdks fo’k;oLrqA 

(³) lekykspd jkeÑ’.k “kekZA 

(p) *;kn* [k.MdkO;dks HkkoA 
   

 lewg-x

3. dquS nqbZoVk iz”udks mÙkj ys[uqgksl~ & 12×2 = 24

(d) Hkkjrh; usikyh lkfgR;dks fodklckjs ,mVk ys[k ys[uqgksl~A 

 ([k) :iukjk;.k flagdks dFkkdkfjrkckjs ppkZ xnSZ mudks *fcrsdk dqjk* dFkkdks leh{kk 
xuZqgksl~A 

(x) bUnzcgknqj jkbZdks ifjp; fn¡nS mudks *?kks’kckcq* dFkkdks foospuk xuZqgksl~A 

(?k) dfo vxeflag fxjhdks dkO; izof̀Ùkckjs ppkZ xnSZ *;kn* [k.MdkO;dks fo”ys’k.k xuZqgksl~A 
  

 ——×—— 
 


